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QUESTION 1
What is the difference between permanent nodes and edge nodes?
A. Permanent nodes cannot be stopped, whereas you can start and stop edge nodes.

B. Permanent nodes are for the life of the cluster, whereas edge nodes are temporary for the duration of processing the
data Permanent nodes contain your Hadoop data, but edge nodes do not have Hadoop data.

C. Permanent nodes contain your Hadoop data, but edge nodes do not have Hadoop data.

D. Permanent nodes contain your Hadoop data, but edge nodes give you the "edge" in processing your data with more
processors.

Correct Answer: B

Reference: https://docs.oracle.com/en/cloud/paas/big-data-cloud/csbdi/using-oracle-big-data-cloudservice.pdf

QUESTION 2

Which is NOT a characteristic of an edge node in Big Data Cloud Service?
A. You can remove an edge node once it is part of a cluster.

B. You have full use of Cloudera Enterprise Data Hub Software.

C. You may store data in the Data Nodes.

D. Each node has 48 TB of storage.

Correct Answer: A

QUESTION 3

You have implemented an environment to store and process structured and unstructured data with Oracle Big Data
Cloud Service and Oracle Database Cloud Service. You want to easily see the data in your Hadoop cluster and you
want to use the Result Set in the Oracle Database to perform robust analysis using Oracle Advanced Analytics.
Which Big Data Connector gives you the ability for batch and dynamic loading?

A. Oracle Loader for Hadoop

B. Oracle Data Integrator for Hadoop

C. Oracle Datasource for Hadoop

D. Oracle SQL Connector for Hadoop

Correct Answer: D
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QUESTION 4

Which different types of network communication protocols does Hadoop use?
A. Hadoop UDP, Direct TCP/IP, and HTTP

B. Hadoop TCP, Direct TCP/IP, and RPC

C. Hadoop RPC, Direct TCP/IP, and HTTP

D. Hadoop UDP, Direct TCP/IP, and HTTPS

Correct Answer: A

QUESTION 5

Which component provides resources for dynamic high-performance processing in Big Data Cloud Service?
A. Edge Node

B. Permanent Node

C. Compute Cluster Node

D. Network Cluster Node

Correct Answer: A
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